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Virgin, virgins, the virgins — NN NY9INa TPIN2

Overview

In '5non nwno the 7N writes first "3 7902 WK 7n9° *2 and the next P1od
concludes M?71N277 nn3 7pw» oo, It is from these two 22109 (and the two
words m?n27 ,771n2) that we derive (according to *"w1) the 01p 21°17 by 21
mn»3 227m X5, The word m7I1n27 in the second P09 is superfluous, from
which derive the above’. m®oin cites the n"1 (again) and rejects his
interpretation here as well.

— 11913 "PO1 NP TNNT IRIN 1127 W'D *NI N3
The 11 explains here as well’, that we derive all the three lessons from

one P'IOB.4 It could have said m71n2 instead of M?1n277 (lesson one); it could have said
77102 instead of M7 N2 (lesson two); the word 77102 itself (lesson three) to teach us 1
MN°I3 °2°°109 7M1 PIRY 92207 T 0010,

mooIn rejects the 1'"75:
= 1'NJ3 NI"INX 7291027 71"9117 10 IR X7 AN '\

And it is not acceptable’; for it is not necessary to utilize one 791> 7w,
since 7103 is written another time®, which teaches us 7515

Summary
The 1" interprets that we can derive from m?1n277 771> that there is 03P by a

regular 77102 and also by NN °2»mM IR %21, MOOIN rejects the need to
derive a regular 72 from M97N27, since o2 is already written
previously.

Thinking it over

Is it possible that md0in is not rejecting the 1179 here, as strongly as in the
previous Mo0IN concerning 77W1? (Or, perhaps he is not accepting >"w1d as
strongly as in the previous N1v0IN!)

" 100,20 [Do0own] mnw.

% See 702 "7 e

? See previous 11 7" MoOIN.

* The second N2 N ,P109.

> It seems that here too, maown prefers *"w2. See “Thinking it over’.
® The first 7902 ¥R 709 N P00,
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